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P.Code: MEO1

SSC-JE : 2022 (Mains) : Test Series

1.(a) Define bulk modulus. Prove that bulk modulus for an ideal gas undergoing isothermal compression is P and
for a ideal gas undergoing isentropic compression is yP.

AT AU Bl YRATNT BT | g HITY fb Foardy Wuled 9 o arell Ua 3as 9 &r
TIA A9IH P BIAT & 3IR ASHE U HYIed ¥ IO dleil Udh AT 1 BT AT AMids yP BIe]

=

[15 Marks]

Sol.:

Bulk Modulus

It is defined as a requirement of pressure to create unit volumetric strain.

AP
K =
8V
where e = v
¥ Vv
—dP

@

Note: (-ve) sign indicate that while increasing pressure volume decrease.

In tems of density bulk modulus is

_ 4P
K= Py

Higher the value of bulk modulus implies tough to compression of body.

For example:

Bulk modulus for water =2 x 10°kPa
Bulk modulus for air = 101 kPa

For isothermal process (T = const.)

We know

PV = mRT
PV = C (differenciating both side)
PdV+VdP=0
v _ dp
v P
_dp dP
B2 Tav ” ]
v P
K=P
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For adiabalic process

A process in which heat transfer does not takes place for adiabolic procss.
pvr =C
Differentiating both side
YPV'dV + VdP = 0

yPV"'dV = _y7dp

yPdV = -VdP
v p
v Py
dP
= _— =K=
K av K=vyP
A%

{l Solution End.

1.(b)  Explain Newton's law of viscosity and also define absolute viscosity.

e & AT & 9 B ARAT ISR 3R FRUeT QAT Bl A1 aiRATNT IS |
[10 Marks]

Newton's Law of Viscosity

It states that the shear stress is directly proportional to the rate of change of angular deformation.

X@
L

Real Fluid

R h=F(@)

A\ ]

Aty=0 u=0(No slip condition)
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- u-+du
|:_I AXI
dy 0
u
-
|:_| AX2
Ax, — Ax,
tan 6 = d—
y
(1 + du)dt — pdt
= —dy
~ dudt
=&
do d_u
dt  dy
0 is very small
do
T= ua
du
TS UGy
T A
du
dy

Where
T = shear stress

1 = cofficient of viscosity

du ] ]
ay Velocity gradient

{l Solution End.
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I.(c) A 90N rectangular solid block is slide down in 30° incline plane. The plane is lubricated with 3 mm thin film
of oil of viscosity 8 poise and relative density 0.9. If the contact area between them are 0.3 m?, then find the
terminal velocity of the block.

T& 90 N NTIATHR SI¥ sl Y18y 30° 3T HHAe H Ad Bl 3R FATSS (AT STl & | Il Bl 8 UISH
&1 ST 3R 0.9 ATURID v dtel dal @l 3 el udell fhew & fade fhar srar 21 afe s71a =
YD &3 & 0.3 m?, [ il &7 ST OfT T BIMT?

[15 Marks]

Given

W=90N
0= 30°
U= 8 Poise
h= 3 mm
A=03m’

Apply H.S L. in axial direction

F = ma
Wsinb —f = 0
Wsinb = TxA
. uv
0= —
Wsinl n
o 08XV
90 sin30° = Ix10° x 0.3
V =0.5625m/s

{l Solution End.
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SSC-JE : 2022 (Mains) : Test Series

1.(d) Three litre of petrol having weight 23.7 find

T ofiex USTd &7 aoid 23.7 ®, df ST dIfor

) Density (d-cd)

(i) Specific weight (faf¥Te ¥R)

(iii) Specific gravity (faf¥re [wme)
(iv) Specific volume (AR 3IdT)

[20 Marks]

Sol.: Given

We know

(1) Density

(i1) Specific weight

(i11) Specific gravity

(iv) Specific Volume

Vv =3L= 3x10"°m’

W=237N
W=mg
237=mx9.81
m= 2416kg
_ e
P=y
_ 2416 53 o/
P~ 35107 ~— o2 em
W= pg
w = 7900 N/m?
S: ppetrol
pwater
oo 8053
1000
S = 0.8033
1
V= —
P
1
8053

1.24 x 107 m’/kg
{l Solution End.
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2.(a) Define surface tension. Prove that the relationship between surface tension and pressure inside a droplet

do

of liquid in excess of outside pressure is given by P = K

U3 TG Bl gRATNT BT | g BIfSY b {6 5 &1 §a & IR 1=l a9 & SMER 3 g8 a1
Sﬁ?mEI%Eﬁ%IWETP=%j EINAEUIRCI IS

[20 Marks]

Sol.:

Surface tension

F, =Tangential Force or
Surface Tension Force

F,

/

Meniscus
Membrane

Lk
/

Unit: N/m or J/m?
Dimensional formula [M'L°T]
For circular Cross section

/= nd
For rectangular cross section

/= 2(atb)

Surface tension occurs due to unbalance cohesive force. As temperature increase, cohesive force
decrease, so surface tension also decrease.

Surface tension is a property of liquid which tends to minimise the surface area of liquid.
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Liquid droplet

TYRY]
B>
v

Pi - POut = AP =Excess Pressure
under equilibrium condition

Pressure force = surface tension force
T
AP (@)= o.nd

i
AP= 7

Where
¢ = Surface tension of liquid

d = Diameter of sphere

{l Solution End.

info@engineersacademy.org < +91 809 444 1 777 > www.engineersacademy.org



P.Code: MEO1
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2.(b)

A cylindrical shaft of 90 mm diameter, rotated about vertical axis inside a fixed cylindrical tube length 50
cm and 95 mm internal diameter. If the space between the tube & the shaft is filled by a lubricant of
dynamic viscosity 2.0 poise determine the power required to overcome viscous resistance when the shaft
is rotated at a speed of 240 rpm.

90 AT TH BT U dTIbR T, U T bR S:d ddTs 50 T iR 95 R sriaRe |
& 37EN FE[ATER el & U GATT ST © | IS SR 3R ATFE & 41 HI S8 DI erRiied T 2.0
UISS & E16d g1 )1 ST 8, Al I UfaRiE UR 301 Ui & 7 saedds efth &1 fMeriRer o, e
IS BT 240 IRUGH I TRT A AT ST © |

[20 Marks]

Sol.:

Given

@

W
- 3
3

A
]
'
]
'
[

Y

}

o
S
8
=

External dia. D, = 95 mm

Internal dia. D, =90 mm

95-90 5
Thickness (t) = = 5mm=2.5 mm

i =2poise =0.2 Pa.s
N =240 rpm
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From equation (1)

SSC-JE : 2022 (Mains) : Test Series

r—ud—u

dy
F_uw
A Y

Power (P)=FV

uv
= —A -V
- () o
V=or
V= 2TEN><
T
B 2 xm x 240 R
V= 60 x 45 x 10
V=1.1304m/s
A= ndL
=n x0.09 x0.5
A= 01413 m?
0.2x0.1413
s AN Sw 2
P 2 35x10°7 x (1.1304)
= 1444 W

{l Solution End.
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2.(c) Define pressure and what do you understand by hydrostatic law.
S19 Bl gAY BIfSTT iR gavfde a9 & 39 a1 q9srd &7

[10 Marks]

MIE  Pressure : It is defined as force applied normal to the surface of an object per unit area over which that

force is applied. The SI unit of pressure is the Pascal (Pa).

P=F/A
F
Hydrostatic law:
(P + Z—P . dzjdA
z h,, P
P-dA— «—— | P+ e dx |dA
' ldW Ox *
-’ 4 i ) 1 /
- dyy 4.-B_ W 1
<« dx »
PdA
Apply Newton's 2°¢ Law in Z direction
F =ma

net

Z

= PdA—(P +6—P-dzjdA
-dW=dmx 0

= —Z—P.dz.dA —(pdv).g= o
Z

oP
= —a—.dz.dx.dy —(pdx.dydz)g= 0
Z

oP
:>——:

5, = P8

® _
== P

This is called as Hydrostatic law.
{l Solution End.
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2.(d) Ahydraulic press has a ram of 40 cm diameter and plunger of 5.5 cm diameter. Find the weight lifted by the
hydraulic press when the force applied at the plunger is 500 N.
U BISsifeld UT § 40 FHI QT BT Udb 3 3R 5.50 HHI T BT ok 8IdT & | Sl ok U8 7T
AT g1 500N & 1 sTSsifeld U9 g§RT SS1T AT aoT9 Sid s |

[10 Marks]

Sol.: Given

D =40 cm,

F =500N,

d=55cm
According to Pascal's Law :

Pressure at Ram & Plunger remains same.

W l !
[T T

©

So, P =P,
W _F

A a

W F

= D&
W 500
= 407~ 55°

= W= 264463 N

= W= 264463 kN
{l Solution End.
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3.(a) For the given figure. Find the pressure difference between A & B.

feu v formr & foIu, A 3R B & & 19 3fcR SITd HIfor |
0il (S =0.8)

“T— Water

12 cm

[10 Marks]

Sol.:

12 cm

P, — (10°%gx0.06) — (800%gx0.03) + (10°xgx0.21) =P,
P, - 600g — 240g +2100g = P,
PP =1260¢g
1260%9.81
12360.6 Pa.

{l Solution End.
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3.(b) Determine and locate total hydrostatic force (F) due to the oil on the plate inclined at 30° with the
horizontal. The plate is hinged at its top edge and width is 2m inside the plane.
&St & 12T 30° TR bl 88 ©ic W del & PRV Gl BIsnReicd daf (F) BT [ 3R I &
MG | eie o f wR fedr 2 ok dieE @b & e’ 2m & |

___________________ 2
___________________ /]:3m

[20 Marks]

Sol.:

3
sin 30° = E
AB=6m

=900 x 9.81 x 4.5 x (6x2)
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F, = 476.76 kN
h — (IXX)Giin26+ H
P Ah
2x6° (1)2
>< P
_ 2 +4.5
. 2x6x45 '
=467Tm

{l Solution End.

3.(c) For the given cylinder having diameter Sm and width 1m find the resultant hydrostatic pressure force.

AT 5m 3R dIeTs Im dTt AU U 99 & forw aRomdT Sreveifde g9 91 SiTd I |

[15 Marks]

Sol.:

Ice

A
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Find the resultant horizontal and vertical force for the given figure.

F, = pgAh
= 900x9.81x5x1x2.5
— 110.3625kN

F, = pgAh

800x9.81x2.5x1x3.75

= 73.575kN
Net F, = F, —F,
= 110.3625 -73.575
= 36.7875 kN
F, = pgY

bis
900%9.8x 3 x5?

= 86.634 kN

T
F, = = x5
= 800x9.81x =5

38.504 kN

+F

V2

F =F

net i

86.634+38.504

125.138 kN
F,= JE +F

J36.7875% +125.138°

F, = 130.43kN

{l Solution End.
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3.(d) Prove that centre of pressure of a completely submerged plane surface is always below the centre of
gravity of submerged surface.

g I b U qol STeaH AT W8 Bl &6 bg Had STdii= Hdg b [ocd ba q 1d 8Idl © |
[15 Marks]

Sol.:

I
o

Oc : Ared centroid
cp : Center of Pressure

y Top View

Pressure on element = pgh
Pressure force on element = (pgh) dA

Total force on body

[dF = [pghdA

F= nghdA

pgjy sinf dA

= pg sind IydA
= pgsind yA
_ Jyda
YT A
h=ysin®
L = ysind
F= pgAh
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Centre of Pressure (c.p)

It is defined as point on which total pressure force is acting

Taking moment about = O

Taking moment = Imoment of element

F o<y, = IdF.y

p

_ h,
pgAhx = [pehdAy

h, )
hAx —2= Iysm@dAy
sin 0

B sinzej.ysz
P Ah
)
A L, sin S
P Ah

(M), = (L), +AY

[(IXX)G + A?z]sin2 0
h AL

(Ixx )G imz 0 N Ay’ si_n2 0
Ah Ah

[?2 sin”0 = HZJ

(L),
P Ah

Where

hcp = Centre of pressure location

h = Centre of gravity location

5= (IXX)G sin” 0

{l Solution End.
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UpX

u
4.(a) For 2-D flow the velocity component is given as u = % and V= %y. where u, is constant. It is found

that the total accelerationat x =L,y =L is 10 nV/s*. If L = 0.2, then find the magnitude of u,,.

UpX

2-DW$W,@‘TWEﬁu=TSﬁ?V=% & ®Y ¥§ far Srar g, 56l u, g g1 Ig

T8 fb x=L,y=L W §el @R 10m/s* &1 & L=0.2 HIex &1, A u, B GRATT ST BT |
[20 Marks]

Sol.: Given

We know

For 2-D steady flow

_
ax—u& +Vay
(3
= — | +
a L UL 0
u2
ax= L—S.X
We know
ov ov ov Ov
Y X oy 0z ot
- ﬂ(lj
ay T L L
u2
a,= L—gy

GRGH]
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2
- u
|a'|: L(Z) : X2+y2
at x=L,y=L, |a] =10

2
u

0= T3 Jr+0?

o= Yev2
L
10 = 11572
0.2
u, = 1.189 unit

{l Solution End.

4.(b) If velocity potential for 2-D flow is given by ¢ = x*>— y? + 3xy. Calculate the flow rate between the
streamline passing through the point (1, 1) & (2, 2).

IS 2-D ¥aT8 & oI T &T|aT ¢ = x>~ y2 + 3xy RT &1 918 &, Al fdg (1, 1) 8iR (2, 2) ¥ JoRA drel!

LHAST & 41 &I JAT§ & Dl 0T BN |
[15 Marks]
Given
¢ = x2—y? +3xy
We know
v _ %
oy Ox
oy
—=2x+3
oy y
I@wz I(2X+3y)8y
3 5
W= 2xy+5y +f(x) .. (D
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v_ %
We know =
— (- 2y +3x)

I@\V = I(2y —3x)0x

3
w= 2xy — X HE() . (2)
From equation (1) and (2)

3 3
= 2xy+—y - =x’
A4 y 2Y >

3
W= 2.1.1—1—5(12—12)
Van= 2

3.0 42
Wioo= 2.2.2—#—5(2 -2)

V= 8
We know Q= |y, —w,|
= 6unit

{l Solution End.

4.(c) A circular pipe of 10 cm diameter has 2 m length which is porous. In this porous section the velocity of exit
is known to be constant. If the velocity at the inlet and outlet of the porous section are 2 m/s and 1.2 m/s
respectively. Find the average velocity of this emitted discharge.

10 99T T @ U MATHR TI8T df @idls 2 7 8, O IR 21 39 IR ©s # & &1 a1 Rer
AET ST 8 | IS IR W & Ude 3R A &1 931 a3 2 Hiex ufd O 3k 1.2 Mex ufd Ao
T 9 Ifoid fdg &1 Sid a7 ST Iy |

[15 Marks]

Given
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d= 10 cm
V, = 2m/s
V, = 12m/s
L=2m
Emitted discharge
Q.=Q-Q
=AV -AV,
=A(V,-V)

T
= —x0.1*°2-12
2 ( )

Q, = 6.28x10° m%/s
Emitted discharge = Emitted area x Emitted velocity

Q,= ndL x V,
6.28x107 m¥/s = mx0.1x2xV
V.= 0.01 m/s

{l Solution End.

4.(d) Define (IR¥IRT IS
1. Steady and unsteady flow (ReR 3R IReR yars)
2. Laminar and turbulent flow (IR iR foefes yaT®)

[10 Marks]

Steady and unsteady flow

A steady flow is one in which all conditions at any point in a stream remain constant with respect to time.
This is the definition for the ideal case. True study flow is present only in Laminar flow. In the turbulent
flow, there are continual fluctuations in velocity. Pressure also fluctuate at every point. But if this rate of
change of pressure and velocity are equal on both sides of a constant average value, the flow is steady
flow.

Aflow in which quantity of liquid flowing per second is not constant, is called unsteady flow. Unsteady
flow is transient phenomenon. It may be in time become steady or zero flow. For example when a value
is closed at the discharge end of the pipeline.

Laminar and turbulent flow

In laminar flow, fluid flow in very organised manner in form layer with sliding over each other. Normally
it occurs at low velocity. It is also known as viscons flow.

In turbulent flow, fluid flow in very disorganised manner with rapid intermixing to each other in zig-zag
path. Normally it occurs at high velocity.
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When fluid flow through circular pipe
Re < 2000, Laminar flow
2000 < Re <4000, Transition flow
Re > 4000, Turbulent flow
When fluid flow over a flat plate -
Re < 5 x 10°, Laminar Flow
5 x 10° < Re <2 x107, Transition flow

Re > 2 x 107, Turbulent flow

{l Solution End.

5.(a) Explain Euler's equation with assumptions.
JAR FHIBRUT Pl YRGS & AT ARAT DI

[15 Marks]

MIE  Euler's equation for a steady flow of an ideal fluid along a streamine is a relation between the velocity,

pressure, and density of a moving fluid. It is based on Newton's second law of motion. The integration of
the equation gives Bernoulli's equation in the form of energy per unit weight of the following fluid.

It is based on the following assumptions:

. The fluid is inviscid (i.¢. the frictional losses are zero).
. The fluid is homogeneous and incompressible (i.e. mass density of the fluid is constant).
. The flow is steady, continous and along the streamline.
. Velocity of the flow is uniform over the section.
. Only gravity and pressure forces are considered.
as

ZFt=ma
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Zp dsj dA — pgdAQlssin®

pdA—(p+—
S

=

Zp dsdA — pgOAQDssin®

ov  ov
_® dAds|v—+—
S Pe |:V Os ot :|

op . { ov GV}
— +pgsind + —+—| =
o5 PESMETRIVE T 7O

6p+pgsin6ds+p[vg+@}ds =0
Os ot

8p+pgdz+p{v?+@}ds =0
S

ot
of @der—dt
ot 0s
ov ov
a= V_—+—/—
0s Ot
ds 47
0
For steady condition
&
ot

OP +pgdz+pvov = (

... Euler's equation

{l Solution End.
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5.(b) A smooth pipe of 200 mm diameter carry water. The pressure in the pipe at section S, (10 m elevation) is
50 kPa. At section S, (12 m elevation) the pressure is 20 kPa and velocity 2 m/s. Find the direction of flow

and head loss between them.

200 f @ 1 forebTr qrgy OTil o SITeT 8 | Hae S, (10 Wiex $Hars) UR sy ¥ a1 50 fbefl rehe

© 1 HaeH S, (12 HIex $elrs) UR <d1d 20 fdbefl Urehel 3R o 2 AR Ui Aehs © | S §Id JaIg &
fem 3iR Y 81+ I B |

[15 Marks]

Sol.:

Given

energy at sections, S,

energy at section S,

P, = 50 kPa, P, = 20 kPa

le

10m, z,=12m

v=2m/s,d =200 mm

3 2
50 x10 104 2
2x9.81

P \'5
24z, +—=

pg 2g

20 x 10° 22
3 +12+
10° x9.81 2x981

1424 m

Since energy at section S, is greater than at section S . So direction of flow must be from S, to S & head

loss
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h‘L: € ~-¢

1.06 m
{l Solution End.
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5.(c) A vertical venturimeter 40 cm x 20 cm is provided in a vertical pipe to measure the flow of oil of relative
density 0.8. The difference in the elevation of the throat section and the pipe is 0.5 m. The direction of flow
of oil being vertically upwards. The oil-mercury differential gauge shown deflection of mercury (S = 13.6)
equal to 40 cm. Determine the discharge of oil flowing in the pipe.
HTUET TTcd 0.8 & el & UaTE &l ATA+ & (oY didad UIey ¥ digad dea™ey 40 cm x 20 cm U&T
ST & | Tl & W 3R UIgY &f 3arg # 3fa 0.5 HeX & | Id & a8 &I {3 fdad HUR & 3R &
BT B | TA—YRT 3R AT 1 gIRT (S = 13.6) BT fRIU1 40 9 & axraR fa@man | grsy | 98+ a1t Il &

fraeT &1 ReRe w |

[15 Marks]

Sol.:

& S=13.6

D=40ecm=04m
d=20cm=02m

x=90cm=09m

S,,=08

p,; = 800 kg/m’
Sy, = 13.6

Py, = 13600

800
h=64m
T 2
a = —(0.4)
= 0.1256 m’

Q- a,a,+/2gh
Vay —a;
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a,4/2gh

4
&)
d
0.1256 x 2 x981x64
4
(04) .
0.2

Q=0363m’/s

dl Solution End.

5.(d) Ina pitot static tube the stagnation pressure is 3.0 kPa and static pressure is —3.0 kPa. The fluid is air (p_,
= 1.2. kg/m’). Calculate the velocity of flow. Assume C = 0.98.

To feie wfed ey H WY &1 <q1g 3.0 fbdll Ul © 3R ReR aq1g —3 {dhell Urpel ©, o9 8dl
§ (p, = 1.2. kg/m’) | HATE & A &I AU $X | C,=0.98 A o |

[15 Marks]
Given
C,=0098, Po= 3kPa, P =-3kPa, p_ =12 kg/m’
V= Cvﬂzg[hstag _hstat:|
P
=C, 2g{s—tag— M}
PE Pg
3 - 3
— ¢, | 3x10°  (=3x10%)
1.2¢g 1.2¢g
V=09 /3x6x103
V12
V= 98m/s
dl Solution End.
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6.(a) Derive the expression for specific speeds and explain its significance.

faRre 1T & U @id G PIT T $896 F6cd Bl FHsIU |

[15 Marks]

MIE  Specific speed:

It is define as a speed of geometrical similar turbine which works under unit head and produce unit power

output.
We know that u= K 2gH
uec VH (D)
Wek ~ ©DN )
e know u= T . (2
u« DN
From equation (1) and (2)
DN o VH
H
Do VI )
N
From, Q= AV
QxDp?*VH
. H
From equation (3) Qo N° H )
We know P=pgQH
P« QH
Po - JHH
H5/2
P=K NE .. (5
PN’
Tl
If, P=1,H=1
N=N,
N =K
, PN?
N, = ea
N = N
s H5/4
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Q=1H=1
N=N
KH3/2
Q=
K
-
N’ =
N°Q
N52 = H3/2
NyQ
Ns = H3/4

N,<60 — Pelton turbine
60 <N_< 300 — Francis turbine
N >300 — Kaplanturbine
N = Speedinr.p.m
P = Shaft power in kW

H = Positive net head in m

{l Solution End.

6.(b)  For a pelton wheel net head is 32 m, discharge of nozzle is 0.18 m?/s, area of nozzle jet is 7500 mm?. The
shaft power is 44 kW and mechanical efficiency is 94%. Find.

U Uoed @I & U ¢ g€ 32 Hiex, Fluid &1 fe@rst 0.18 m¥/s §, Fleid oic &l &% 7500 mm>
g1 e &I vfh 44 kW 3R Iif3rs <eTdr 94% B | e de—

(i) Power at outlet of nozzle (STl & 3MMScelc U fth)

(ii) Runner Power (IR 3ItH)

(iii) Frictional power loss. (G0 31fth €9)

[15 Marks]

MR Calculate the power lost.

(1) In the nozzle

Nozzle outlet
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Q 0.18

V= == oo =24 mis

A 7500x10°

2

51.84 kW
WP. = pgQH

= 9.81x10°x0.18x32 =56.50 kW
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_ Shaft power
1/]mech R_P

RP= ﬂ—46801<W
094

Power loss FP=RP-SP
= 46.80 —44

=28kW
{l Solution End.

6.(c) A centrifugal pump discharge 0.2 m’/s of water at a head of 25 m when running at 1400 rpm. The mano-
metric efficiency is 80%. If the impeller has an outer diameter of 30 cm and width of 5 cm. Determine the
impeller power and vane angle at outlet.

HSIIARS U7 1400 rppm TR Tl GR 25 m & Y 0.2 m3/s U1 BT 98+ w3l 8| AIFMfgd qeTdr 80%
21 Il SR BT 9188 AT 30 cm 31N ASTS 5 cm B | 3MScie TR SN URH 3N Beld i HeriRd

PN |
[15 Marks]
Sol.:
Given Q=02m?%s
H= 25m
N = 1400 rpm
nmanoz 80%
D, = 30 cm
B,=5cm
DN wx0.3x1400 5198 m/
27 60 60 T oIS

info@engineersacademy.org < +91 809 444 1 777 > www.engineersacademy.org



P.Code: MEO1 SSC-JE : 2022 (Mains) : Test Series

V.=V,
6= nd,B,V,

02 =mx03x005xV,

Ve, = 4.246 m/s
e

A

g 281x23

T 21.98xV,,

V,,= 13.97m/s

\ 4.246

tan$p = =

W,V 21.98-13.94

w2

b= 27.80°
{l Solution End.

6.(d) A pelton wheel has a single jet rotates at 600 rpm. The velocity of the jet from the nozzle is 100 m/s. If the
ratio of the vane velocity to jet velocity is 0.44. What is the diameter of the pelton wheel.

& Yeed @it H 600 rpm TR 36T Si¢ RICe BIAT & | Aloldl 9§ oI &1 9 100 m/s & | AT ST 9T 3R
I O BT AU 0.44 7, Al Yo Gl &I AT a1 BIel 57

[15 Marks]
Sol.: N = 600 rpm
V1 = 100 m/s
Ku = 0.44
u=K_ .V,
u= 0.44x100
u= 44 m/s
Wek _ nDN
€ Know u= 60
44 = T x D x 600
B 60
D=140m

{l Solution End.

aaa
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